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Connecting dimensions,

valid for article numbers A_00092 and A_00093-01
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TCP (on the plane of the flange)

see figure Y
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Depending on 

the drive type

M6 (6x), 12mm deep

(to fix some tools like 

ejectors for example)
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6
0
7

a
p
p
r
o
x
.
 

5
0
0

(

R

9

0

8

,

3

3

)

TCP - working range

Depending on the robot type

A

B

M6 (6x), 14 mm deep

(one thread hole

on each clamp,

position see 3D model)

M6 (6x), 14 mm deep

(one thread hole

on each clamp,

position see 3D model)
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All fastening holes Ø17,5 mm for screws M16

(DIN ISO 4014/4017 -8.8) without washers.

Fastening holes are coloured red.

 

Fastening screw threads coloured green: M8 (8x) 15.

 

Drilling holes for locating pins are filled red.

Recommend dimensions of locating pins: Ø12 h6 (      )
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